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void printl(DoublyNode* node)

{
cout << node->elem << endl;
if (node->next == trailer) return;
else printl(node->next);

}

void print2(DoublyNode* node)

{
if (node == trailer) return;
else print2(node->next);
cout << node->elem << endl;

}

void main()

{
DoublyLinkedList list;
list.insertOrdered("Paul”, 720); // kiicikten
list.insertOrdered("Rose", 590); // biyiige
list.insertOrdered("Anna", 660); // sirali ekle
list.printi(list.header->next); //(1)
list.print2(list.header->next); //(2)
list.print3(list.trailer->prev); //(3)
list.print4(list.trailer->prev); //(4)

}

1. a) Write down the outputs of the functions print1() and

print2() when called with header->next parameter in the
main() function. (10P)

printl() Print2()

b) Write down print3() that is equavalent to print1() and
print4() that is equavalent to print2() when called both
with trailer->prev parameter in the main() function.

Hint - Answers take 3 lines.

void print3(DoublyNode* node) // printl()

{
//5P
//5P
//5P
}
void print4(DoublyNode* node) // print2()
{
//5P
//5P
//5P

void removeOrdered(const string& e, const int& i)

{

DoublyNode* current = header->next;

while (current != trailer)

{
if((current->elem == e) && (current->score == i))
{

delete current;

return;
}
current = current->next;
}
cout << e << " is not found" << endl;
}
2. Complete removeOrdered() function above that removes an

element from a doubly linked list. (10P)
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3. Insert the elements above into a splay tree? (20P)
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4 . Complete codes below that deletes 8 and 24 from binary tree
like above. (30P)

if( p->left != NULL & p->right != NULL)
¢ if(parent->left == p)
parent->........ = P=dcecccens H
P=>ceeeeececenes = parent;
temp = P=deeeiennn H
while(temp->...... I= NULL) temp = temp->...... H
temp->.....0.0 = P-deeeccnen H
temp->.....0.0 = temp;
}
else
{
parent->........ = P=dceeccens H
[ = parent;
temp CREED H
while(temp->...... I= NULL) temp = temp->...... H
temp->.......... CREVED N H
temp->.......... = temp;
}
delete p;
}




